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Identify the odd one w.r.t dicot embryo
1) Radicle

2) Cotyledon

3) Hypocotyl

4) Epiblast

Which of the following plant, embryo also
developed from nucellar cells?

1) Citrus

2) Cashew nut

3) Wheat

4) Eucalyptus

Sexual reproduction is biparental, seen in
1) Commelina

2) Datura

3) Castor

4) Papaya

The role of triple fusion in angiosperm is to
produce

1) endocarp

2) cotyledons

3) scutellum

4) endosperm

Select the odd one w.rt wall
microsporangium in flowering plants?
1) Endothecium
2) Tapetum
3) Hilum
4) Middle layers

layers of

06. Which of the following weed has become a major

07.

cause of pollen allergy in India?
1) Pistia

2) Zostera

3) Parthenium

4) Mirabilis

In most of the flowering plants, pollination takes
placeat  celled stage?

12

2)3

3)4

4)5
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08.

The most resistant organic material present in
exine of pollen grain is

1) Pectin

2) Cellulose

3) Sporopollenin

4) Chitin

10.

1) A-Synergid cell, D—Chalazal end
2) B—Egg cell, C-Antipodal cell

3) B—Central cell, D-Micropylar end
4) A—Egg apparatus, B—Central cell

In a typical angiospermic embryosac egg
apparatus contains
1) 8 nucleated and 7 celled
2) 3 nucleated and 3 celled
3) 3 nucleated and 2 celled
4) 2 nucleated and 2 celled

11. Which of the following plant, prevents autogamy

12.

13.

14.

but not geitonogamy?
1) Papaya

2) Maize

3) Phoenix

4) Pea

Which of the following plant seed is excavated
from Arctic Tundra?

1) Phoenix

2) Lodoecia

3) Lupinus

4) Orchid

Sahiwal cows in punjab is obtained through
1) Artificial selection

2) Domestication

3) Natural selection

4) Both (1) and (2)

Which of the following character of pea was not
studied by Mendel?

1) Shape of pod

2) Colour of seed

3) Length of the stem

4) Shape of flower
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15.

16.

17.

18.

19.

20.

21.

The percentage of pure individuals in F
generation of monohybrid cross conducted by
Mendel

1) 75

2) 50

3) 100

4) 25

The ratio between the number of kinds of
heterozygous genotypes and the number of kinds
of homozygous genotypes in the F2 generation of
monohybrid cross is
nHNi:1
2)3:1
3)1:2
4)2:1

What is the probability of homozygous double
dominant plants in F2 generation of dihybrid
cross conducted by Mendel?

1)4/16

2)1/16

3)9/16

4)3/16

The colour based contrasting traits in seven
contrasting pairs studied by Mendel in garden
pea were

1)2

2)1

3)3

4) 4

Emasculation is the removal of
1) flower buds

2) carpels before dehiscence
3) anthers from flower buds

4) mature flowers

Identify the odd one w.r.t Drosophila

1) Its life cycle is two weeks

2) Single mating can produce large number of
flies

3) Male and
distinguishable

4) It can’t grown in laboratory

female flies are easily

The physical association of genes on a
chromosome is called

1) Recombination

2) Linkage

3) Genotype

4) Mutation

15.

16.
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22,

Study the following and identify the incorrect
match

1) Monohybrid cross — TT x tt

2) Alleles—T and t

3) Test cross — Tt x tt

4) Homozygous tall — Tt

23. The F2 phenotype ratio in a monohybrid cross can

24,

25.

26.

27,

28.

be mathematically condensed to the form of the
binomial expression

1) ax — by

2) bx + ay

3) (ax + by)?

4) (ax - by)®

The terms recombination and linkage was given
by

1) T.H. Morgan

2) Hugo deVries

3) Alfred Sturtevant

4) Mendel

Who among the following rediscovered Mendel
laws of inheritance?

1) Hugo deVries

2) Von Tschermak

3) Carl correns

4) All the above

The following pair of human blood group alleles
are co-dominant

1) 1°1°

2) IM°

3) IBI°

4) 1"B

Which of the following is true about EFB

definition of biotechnology?

1) It includes traditional view.

2) It includes modern molecular biotechnology.

3) Definition is the integration of natural science
and organisms, cells, parts thereof, and
molecular analogues for products and
Services.

4) All the above

Multiplication of alien DNA in organism requires
1) ROP

2) ORI

3) Stop codon

4) TATA box
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29.

30.

31.

32.

33.

Who constructed the first rDNA using antibiotic
resistance gene in the year 1972?

1) Jacob and Monod

2) Stanley Cohen and Herbert Boyer

3) Sutton Boveri

4) Boliver and rodriguez

How many base pairs present in the sequence
which is recognized by Hind 11?

1) 4

2)6

3)8

4) 10

In ‘EcoRI’ R stands for
1) Genus

2) Species

3) Name of the strain
4) Restriction enzyme

Restriction enzyme breaks
1) Glycosidic linkage

2) H-bond

3) Sugar-phosphate linkage
4) All of these

The sequence recognized by EcoRl is
1) 5-GAATTC-3' 3'-CTTAAG-5'
2) 5'-CCAATG-3' 3'-GAATCC-5’
3) 5'-GATACC-3' 3'-CCTAAG-5’
4) 5'-CATTAG-3' 3-GATAAC-5’

34. The extraction of DNA from a gel piece is known

35.

36.

as

1) Spooling

2) Elution

3) Transformation
4) Annealing

The fragmented DNA can be visualized by
staining DNA with

1) NaCl

2) Ethidium bromide

3) Ethylene bromide

4) NaBr

Which vector is use to deliver gene in animal
cell?

1) Retroviruses

2) Disarmed retroviruses

3) Ti-plasmid

4) E. coli

29.

30.

31.

32.

33.

34.
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37.

First transformed cell used in biotechnology by
Herbert Boyer and Stanley cohen is

1) E.coli

2) Salmonella

3) Agrobacterium

4) Yeast

38. The enzyme used in PCR technology is

1) DNA ligase

2) Taq polymerase
3) RNA polymerase
4) Both (1) and (2)

39. Which of the following is not correctly matched

40.

41.

42.

43.

for the organism and its cell wall degrading
enzyme?

1) Bacteria — Lysozyme

2) Plant cells — Cellulase

3) Algae — Methylase

4) Fungi — Chitinase

Bioreactors are useful in

1) Separation and purification of the recombinant
product

2) Microinjection

3) Processing of large volume of culture

4) lIsolation of genetic material

The bacterium, which is used in artificial
synthesis of human insulin is
1) Clostridium botulinum
2) Escherichia coli
3) Bacillus vulgaris
4) Acetobacter aceti

CrylAb controls

I) Cotton bollworms
I1) Corn borer

1) Bt

1) I only

2) Il only

3) land Il

4) 1, 11, HI

Silencing of mMRNA has been used in producing
transgenic tobacco plants resistant to

1) Boll worms

2) Nematodes

3) White rusts

4) Bacterial blights

37.

38.

39.

40.

41.

42.

43.
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44,

During the processing of “Proinsulin” into the
mature “insulin”

1) C — peptide is added to proinsulin

2) C — peptide is removed from proinsulin

3) B —chain is deleted

4) A —chain is deleted

45. What are transposons?

1) Immobile genetic elements
2) mobile genetic elements

3) non translator elements

4) translatory elements

46. The estimated number of rice varieties in India

1) 50,000

2) 1,00,000
3) 8,00,000
4) 2,00,000

47. Who is the father of ecology in India?

48.

49.

1) Thomas Malthus
2) Alfansocorti

3) Charles Darwin
4) Ramdeo Misra

In animals the organism, if unable to migrate
might avoid the stress by

1) escaping in time

2) hibernation

3) aestivation

4) all of the above

Which of the following algae are found in
deepest ocean waters?

1) Red algae

2) Brown algae

3) Green algae

4) Yellow algae

50. A cuckoo laying eggs in the nest of other species

51.

of birds is an example of
1) ectoparasitism

2) brood parasitism

3) hyperparasitism

4) endoparasitism

The most ecologically relevant environmental
abiotic factor is

1) temperature

2) water

3) light

4) soil

44,

45.

46.

47.

48.

49.

50.
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52.

53.

54,

55.

56.

Intrinsic rate of natural increase value for
Norway rat is

1) 0.015

2)0.12

3) 0.0205

4)0.14

Which of the following is not an example of
terrestrial ecosystem?

1) Forest

2) Grassland

3) Wetland

4) Desert

Which of the following is not an autotrophic
component in a pond ecosystem?

1) Zooplankton

2) Algae

3) Floating plants

4) Submerged plants

Net primary productivity is the available biomass
for the consumption to

1) heterotrophs

2) herbivores

3) decomposer

4) all of these

The productivity of ocean is
1) 170 billion tons

2) 70 billion tons

3) 55 billion tons

4) 55 million tons

57. Which of the following is not a step in the process

58.

59.

of decomposition?
1) Fragmentation
2) Leaching

3) Anabolism

4) Humification

Plants capture only __ per cent of the PAR and
this small amount of energy sustains the entire
living world.

1)2-10

2) 20 - 30

3)5-10

4)2-3

The plant which is also called Terror of Bengal
IS

1) Datura

2) Cassia

3) Vallisneria

4) Eichhornia
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60.

61.

62.

63.

The following pie chart shows global
biodiversity w.r.t. proportionate number of
different plants including fungi and lichens.

/
|

The labels A and B respectively represent
1) Algae and fungi

2) Fungi and angiosperms

3) Algae and angiosperms

4) Mosses and ferns

Since the origin and diversification of life on
earth, there were how many episodes of mass
extension of species?

1) Five

2) Three

3) Four

4) Two

On lag scale, species-area relationship can be
represented by the equation

[Here, S = Species richness; A = Area; Z =
Regression coefficient; C =Y intercept]

_ logcC
1) IogS—ZlOgA

2)logC=1logS+AlogZ
3)logS=logC+Zlog A
4)logA=logS+ClogZ

Identify the placental hormones among these.
a) Prolactin

b) Oxytocin

c) Estrogen

d) Progestogens
e) FSH

f) hCG

G) hPL
1acfg

2)e, f,g,b
3)c,dfg

4)a, b,c defg
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2)e, f,0,b
3)c,d,fg
4)a, b,cdefg


https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m
https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m

64.

65.

66.

67.

68.

69.

Choose the correct statement.

1) In human female each breast is divided into 15
- 20 mammary ducts

2) The spermatids are transformed
spermatozoa is called spermiation

3) The clitoris is a tiny finger like structure

4) The uterus is inverted pear shaped structure
consist of 2 layers

into

Which cells secrete male sex hormones
androgens?
1) Leydig’s cells
2) Interstitial cells
3) sertoli cells
4) both 1 and 2

In which part of the fallopian tube fertilization
occurs?

1) Ampullary isthmic junction

2) Ampullary region

3) Infundibulum

4) both 1 and 2

Which of the following structures help to block
the entry of additional sperm into secondary
oocyte?

1) Corona radiata

2) Perivitelline layer

3) Zona pellucida

4) both 1 and 2

Spermatogenesis is stimulated by
1) LH

2) FSH

3) Androgen

4) all

Match the following

A) Insemination |i) Embryonic development

B) Gestation i) Transfer of sperms into
female genital tract

C) Implantation [iii) Blastocyst attach to the

uterine wall
1) A-i, B-ii, C-iii
2) A-ii, B-i, C-iii
3) A-iii, B-ii, C-i
4) A-iii, B-i, C-ii
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70.

71.

72.

73.

74.

75.

Ovarian stroma of ovary is divided into

1) a peripheral cortex and an inner medulla

2) a peripheral medulla and an inner cortex

3) a peripheral epimetrium and an
myocardium

4) a peripheral myocardium and an inner
epicardium

inner

Identify the correct matching pair.

1) Fimbriae - funnel shaped structure of oviduct

2) Infundibulum - finger like projections of
fallopian tubes

3) Ampulla - wider part of the oviduct

4) Isthmus - the part closer to the ovary

Choose the correct statement.

1) The secondary spermatocyte undergoes first
meiotic division to produce spermatids

2) The alveoli opens into mammary ducts of
mammary lobes

3) Ovulation occurs in the middle of the
menstrual cycle

4) Secondary oocyte retains bulk of the nutrient
rich cytoplasm of the primary follicle

What are the programs called to get total
reproductive health as a social goal of national
level?

1) Family care

2) Family organization

3) Reproductive care
4) Family planning

A wide range of contraceptive methods are
presently available which could be broadly
grouped into the following categories, namely
1) natural / traditional

2) barrier, IUDs, oral contraceptives, injectables
3) implants and surgical methods

4) all of the above

In periodic abstinence method, sexual contact
should be avoided from

1)days1to5

2) 10 to 17 days

3) days 14 to 25

4) days 15 to 20
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76.

In the method of contraception ovum and
sperms are prevented from physically meeting.
1) Nirodh

2) Cervical caps

3) Vaults

4) all of these

77. Copper releasing IUDs, like CuT, Cu7, multiload

78.

375 act by

1) decreasing phagocytosis of sperms within the
uterus

2) suppressing the sperm motility and fertilizing
capacity of sperms

3) making the uterus unsuitable for implantation
and cervix hostile to the sperms

4) prevent ovulation

Mark the wrong statement w.r.t medical

termination of pregnancy (MTP)

1) 45 to 50 million MTPs are performed each
year all over the world

2) It occurs for termination of 1/5" of total
number of conceived pregnancies per year

3) It is mainly performed for the purpose of
decreasing the population size

4) MTPs are relatively safe during first trimester
of pregnancy

79. Which one of the following groups includes only

80.

81.

sexually transmitted diseases?

1) Gonorrhoea, hepatitis-B, chlamydiasis
2) Hepatitis-B, haemophilia, AIDS

3) HIV, malaria, trichomoniasis

4) AIDS, syphilis, cholera

Saheli on oral contraceptive for females, was
developed by

1) AIIMS, Delhi

2) CDRI, Luck now

3) 1ICB, Kolkata

4) SGPGI, Lucknow

Which of the following lymphoid organ size is
reduced with the age?

1) Lymph nodes

2) MALT

3) Spleen

4) Thymus gland
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82.

83.

84.

85.

86.

87.

Which of the following diseases is easily
transmitted from an infected person to healthy
person?

1) Cancer

2) Common cold

3) Malaria

4) Typhoid

For which immunities a preparation containing
antibodies to the toxin and antigenic proteins of
pathogens are used respectively?

1) Active and passive

2) Passive and active

3) Active and active

4) Passive and passive

Statement-I: Viral infected cells can protect
neighbouring uninfected cells from the virus.
Statement-1l:  Viral infected cells secrete
interleukins which are antiviral proteins.

1) Both Statements | and |1 are correct

2) Statement | is correct, Statement Il is incorrect
3) Statement | is incorrect, statement Il is correct
4) Both statements | and 1l are incorrect

Which of the following are adverse affects of
alcohol abuse?

1) Liver cirrhosis

2) Heart is affected

3) Fatty liver syndrome

4) all of these

Which of the following drugs have
hallucinogenic properties?

1) Ganja

2) Charas

3) Marijuana
4) All of these

Match the following

A) Rheumatoid i) Allergens
arthritis
B) Asthma 1) Immunodeficiency
disease
C) Cancer iii) Withdrawal syndrome
D) AIDS iv) Oncogenic viruses
v) Auto-immune disease

1) A-iii, B-iv, C-v, D-ii
2) A-iv, B-i, C-ii, D-v
3) A-ii, B-i, C-iv, D-iii
4) A-v, B-i, C-iv, D-ii
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88.

89.

90.

Which of the following are used to destroy the
cancer tumors?

1) Radiation therapy

2) Immuno therapy

3) a-interferon

4) all of these

Salmonella typhi is a
1) virus

2) pathogenic bacteria
3) ectoparasite

4) fungi

Transfer of antibodies into an infectious disease
person comes under

1) natural passive immunity

2) natural acquired immunity

3) artificial passive immunity

4) artificial active immunity
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